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Part- A
Choose the Correct answer:

10x1=10

1) Th
) The number of constant functions from a set containing m elements to a set

tOntaining n elements is

, a) mn b) m ¢) n d) m+n
) 1 f: RoR defined by f(x) = [x]+[x], then the range is
a) {0, +2, +4, x5, .. } b) N
3 1 a){£1,. 43, 45 .....v. )
3) (AUB'UC) (ANB'NC') is equal to |
a) AUB'UC b) AnB'~C' c) (AnB)UC  d) (AUB')NC
4) n(A-B)is equal to
ANA)-N(AB)  b)n(A)-n(B) ) n(B-A) d) n(B)-n(A)
i
5) If I: - 2I 20, then x belongs to
a) [2, «) b) (2, «) €) (-, 2) d) (-2, =)

6) If Ix-a|<r<0 then

a)-r<x-a<r b)-r<x-a<r C)a-r < x<a+r d) no solution of x
7) The number of solutions of X*+|x-1| = 1is

a)1 b) 0 c) 2 d) 3
8 T ‘6 =
) cos80° sin80°
a) V2 b) V3 c) 2 d) 4
9) [1+cos-g-](1+cos%£}[1+cos%}(ucos%“}:
1 1 1
a) % b) 5 c) B d) 5

tan140°-tan130°
10) If tan 400 = }, then -

1+tan140°tan130°
2 2 2
12 {4k 1.2 fin
2} = b —= 1+ D1-5
Part-B

Answer any 4 questions: (Question No. 16 is compulsory) 4x2=8
11) Let A = {0, 1, 2, 3} construct relations on A of the type Reflexive, not
symmetric and not transitive.
12) Solve: |4x-5] 2 -2
13) If P(A) denotes the power set of A, then find n(P(P(P(¢)))).



Ts-11M

14) Find the value of tan(105 IJ). ‘
15) Find the value of cot [ :-lq'm :
16) Solve: x - Jx 1 20 foy/r R.

/ Part - C

4x3=12
Answer any 4 questions: (?uestlon No. 22 is compulsory)

E{i +log bz t log _cz_
bt/ ac ab

18) Resolve into partfal fractions: ——— . ;12‘ -
{ (x+1)* (x~-2)

19) IfFf: R - {-1, 17f > R is defined by f(x) -

17) Prove that log 0.

oo . SOSITY whether f s one to
x2 -1
one or not,

” " ind
20) If sinx =% (in 1 quadrant) and cosy = __i_lj'_c_’ (in 11 quadrant) then fin

sin(x-y).
21) Determine whether the given function is even, odd or neither Gin?x—-2C0S*X—~COSX .
22) Find the domain of ifilhsi_ﬁ; .
Part-D
Answer all the questions: 3x5=15
23) On the set of natural numbers. Let R be the relation defined by aRb if
2a+3b = 30. Write down the relation by listing all the pairs. Check whether
it is (i) Reflexive (ii) Symmetric (iii) Transitive (iv) Equivalance relation.
| (OR)
Iff, g : R — R are defined by f(x) = x+|x| and g(x) = x-=|x|, find gof and fog.
24) If one root of K(x-1)? = 5x-7 is double of the other root show that
K=2orK=-25. ' (OR)

Find the square root of 7 - 43 .

25) If sin® = % and the angle 0 is in the second quadrant then find the values of

other five trigonometric function.
(OR)

- 1
Find the value of Sin [22-2-0].
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